

Ex02 :

Interpolation de Lagrange $P(x) = y_0 L_0 + y_1 L_1 + y_2 L_2$ (o.s)

les pts d'appuis :

$$\begin{cases} x_0 = 0 \\ x_1 = \frac{1}{6} \\ x_2 = \frac{1}{2} \end{cases} \implies \begin{cases} y_0 = \sin 0\pi = 0 & \text{(o.s)} \\ y_1 = \sin \frac{\pi}{6} = \frac{1}{2} & \text{(o.s)} \\ y_2 = \sin \frac{\pi}{2} = 1 & \text{(o.s)} \end{cases}$$

$y_0 = 0 \implies y_0 L_0 = 0$; calculons L_1 et L_2

$$L_1 = \frac{(x-x_0)(x-x_2)}{(x_1-x_0)(x_1-x_2)} = \frac{x(x-\frac{1}{2})}{\frac{1}{6}(\frac{1}{6}-\frac{1}{2})} = -18x^2 + 9x \quad \text{(o.s)}$$

$$L_2 = \frac{(x-x_0)(x-x_1)}{(x_2-x_0)(x_2-x_1)} = \frac{x(x-\frac{1}{6})}{\frac{1}{2}(\frac{1}{2}-\frac{1}{6})} = 6x^2 - x \quad \text{(o.s)}$$

$$P = \frac{1}{2}(-18x^2 + 9x) + 1(6x^2 - x) = -3x^2 + \frac{7}{2}x \quad \text{(o.s)}$$

Ex03 :

$$\begin{cases} x' = 5x + y - z \\ y' = 2x + 4y - 2z \\ z' = x - y + 3z \end{cases} \implies \begin{pmatrix} x' \\ y' \\ z' \end{pmatrix} = \underbrace{\begin{pmatrix} 5 & 1 & -1 \\ 2 & 4 & -2 \\ 1 & -1 & 3 \end{pmatrix}}_A \begin{pmatrix} x \\ y \\ z \end{pmatrix}$$

cherchons les valeurs et les vecteurs propres de A .

$$\det(A - \lambda I) = (x-6)(x-2)(x-4) \begin{matrix} \nearrow \lambda_1 = 2 & \text{(o.s)} \\ \searrow \lambda_2 = 4 & \text{(o.s)} \\ \quad \lambda_3 = 6 \end{matrix}$$